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QUANTITATIVE APTITUDE
Q.1 The given table shows the

number of new employees
joined in different categories of
employees in an organisation
and also the number of
employees from these
categories who left the
organisation every year since
the foundation of the
organisation in 2015. Study
the table and answer the

question that follows./nh xbZ
rkfydk ,d laxBu esa deZpkfj;ksa dh
fofHkUu Jsf.k;ksa esa 'kkfey gksus okys u,
deZpkfj;ksa dh la[;k vkSj bu Jsf.k;ksa ds
deZpkfj;ksa dh la[;k dks Hkh n'kkZrh gS]
ftUgksaus 2015 esa laxBu dh LFkkiuk ds
ckn ls gj lky laxBu NksM+ fn;kA rkfydk
dk vè;;u djsa vkSj uhps fn, x, ç'uksa
dk mÙkj nsa&

    

Year
2015
2016
2017
2018
2019

Joined
80
63
78
42
67

Left
0
21
28
39
44

Joined
35
26
15
20
14

Left
0
16
5
38
24

Joined
50
46
38
34
22

Left
0
20
15
0
30

Joined
73
34
48
14
21

Left
0
23
29
12
30

Business Analysts Accountants Sales Representative Peons

During the years given, what
is the difference between the
total number of Business
Analysis who joined the
organisation and the total
number of Sales
Representatives who joined the

organisation?/fn, x, o"kks± ds nkSjku]
laxBu esa 'kkfey gksus okys O;olk;
fo'ys"k.k dh dqy la[;k vkSj laxBu esa
'kkfey gksus okys fcØh çfrfuf/;ksa dh
dqy la[;k ds chp fdruk varj gS\
(1) 142 (2) 143
(3) 141 (4) 140

Q.2 Aarif, Arun and Abraham can
do a work in 12, 20 and 24
days, respectively. They all
begin together. Aarif leaves
the work 1 day, Arun 3 days
and Abraham 4 days before
its completion. In how many
days is the work finished?/

vkfjiQ] v#.k vkSj vczkge Øe'k% 12,

20 vkSj 24 fnuksa esa ,d dke dj
ldrs gSaA os lc ,d lkFk 'kq: djrs gSaA
vkfjiQ 1 fnu] v#.k 3 fnu vkSj vczkge
4 fnu igys dke iwjk gksus ls igys
NksM+ nsrk gSA dk;Z fdrus fnuksa esa lekIr
gksrk gS\
(1) 8 (2) 10
(3) 11 (4) 9

Q.3 A conical vessel, whose
internal radius is 20 cm and
height is 27 cm, is full of water.
If this water is poured into a
cylindrical vessel with internal
radius 15 cm, what will be the
height to which the water rises

in it?/,d 'kaDokdkj crZu] ftldh
vkarfjd f=kT;k 20 lseh vkSj ÅapkbZ 27

lseh gS] ikuh ls Hkjk gSA ;fn bl ikuh dks
15 lseh vkarfjd f=kT;k okys ,d csyukdkj
ik=k esa Mkyk tk,] rks blesa ikuh fdruh
Å¡pkbZ rd p<+sxk\
(1) 16 cm/lseh (2) 10 cm/lseh
(3) 12 cm/lseh (4) 14 cm/lseh

Q.4 The average age of six
members of a family is 40
years. If the age of a guest is
included, then the average age
increases by 12.5%.What is
the age (in years) of the

guest?/,d ifjokj ds Ng lnL;ksa dh
vkSlr vk;q 40 o"kZ gSA ;fn ,d vfrfFk
dh vk;q 'kkfey dj yh tk,] rks vkSlr
vk;q esa 12.5% dh òf¼ gks tkrh gSA
vfrfFk dh vk;q (o"kks± esa) fdruh gS\
(1) 59 (2) 65
(3) 75 (4) 69

Q.5 The following pie charts show
the percentage of employees in
each department and the
percentage of males working in

each department./fuEufyf•r ikbZ
pkVZ çR;sd foHkkx esa deZpkfj;ksa dk çfr'kr
vkSj çR;sd foHkkx esa dk;Zjr iq#"kksa dk
çfr'kr n'kkZrk gSA
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Find the number of females
working in the production

department./mRiknu foHkkx es a
dk;Zjr efgykvksa dh la[;k Kkr dhft,A
(1) 36 (2) 40
(3) 32 (4) 24

Q.6 If x = 222, y = 223 and z =
224, then find the value of x3

+ y3 + z3 - 3xyz./;fn x = 222, y

= 223 vkSj z = 224 gS] rks x3 + y3

+ z3 - 3xyz dk eku Kkr dhft,A
(1) 2007 (2) 2004
(3) 2006 (4) 2005

Q.7 The bar graph given below shows
the percentage distribution of the
total production of six different
types of cars by a car
manufacturing company over 2

years./uhps fn;k x;k ckj xzkiQ 2 o"kks± esa
,d dkj fuekZ.k daiuh }kjk Ng fofHkUu
çdkj dh dkjksa ds dqy mRiknu ds çfr'kr
forj.k dks n'kkZrk gSA
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The total number of cars of
type P, R and U manufactured

in 2001 is:/2001 esa fufeZr P, R vkSj
U çdkj dh dkjksa dh dqy la[;k gS%
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(1) 1,54,000 (2) 1,76,000
(3) 2,00,000 (4) 2,64,000

Q.8 If 
5

sec
4

A  , then the value of

2

tan sin

sec1 tan

A A

AA



 is:/;f n

5
sec

4
A  , r k s

2

tan sin

sec1 tan

A A

AA



 dk eku gS%

(1) 2 (2) 1
(3) 0 (4) 3

Q.9 The following pie chart shows
the population of 7 villages./

fuEufyf•r ikbZ pkVZ 7 xkaoksa dh tula[;k
n'kkZrk gS

     C
8%

G
15%

A
13%

B
15%

E
18% D

17%

F
13% 

What is the different between
the population of villages E
and D, if the total population
of all the villages together is

50,000?/;fn lHkh xk¡oksa dh dqy
tula[;k feykdj 50,000 gS] rks xk¡o
E vkSj D dh tula[;k ds chp fdruk
varj gS\
(1) 500 (2) 400
(3) 300 (4) 600

Q.10 If ,  are the roots of 6x2 +
13x  + 7 =0, then the equation

whose roots are 2, 2 is:/;fn
6x2 + 13x  + 7 =0, ds ewy , 

gSa] rks lehdj.k Kkr djsa&
(1) 36x2 - 87x + 49 = 0
(2) 36x2 - 85x + 49 = 0
(3) 36x2 - 85x - 49 = 0
(4) 36x2 + 87x - 49 = 0

Q.11 X is directly proportional to
the square of Y. When X is 12,
then Y is 2. Find the value of

X when Y is 3./X Y ds oxZ ds
lekuqikrh gSA tc X, 12 gS] rks Y 2
gSA X dk eku Kkr djsa] tc Y, 3 gSA
(1) 30 (2) 9
(3) 27 (4) 18

Q.12 A policeman spotted a thief 40
metres ahead of him. The
moment they both saw each
other they started running in
the same direction on the
same track. The thief was

running at 10 m/sec and the
policeman was chasing him at
the speed of 12 m/sec. How
much distance (in metres) the
policeman needed to cover to
catch the thief?/,d iqfyldehZ us
vius ls 40 ehVj vkxs ,d pksj dks ns•kA
tSls gh mu nksuksa us ,d nwljs dks ns•k os
,d gh fn'kk esa ,d gh VªSd ij nkSM+us yxsA
pksj 10 ehVj@lsdaM dh xfr ls Hkkx jgk
Fkk vkSj iqfyldehZ 12 ehVj@lsdaM dh
xfr ls mldk ihNk dj jgk FkkA pksj dks
idM+us ds fy, iqfyldehZ dks fdruh nwjh
(ehVj esa) r; djuh gksxh\
(1) 180 (2) 240
(3) 200 (4) 225

Q.13 If cos + cos2 = 1, find the

value of 4 2sin θ cos θ /;fn
cos + cos2 = 1 g S ]  r k s

4 2sin θ cos θ dk e ku K kr
dhft,

(1) 2 cos θ (2) 2 cos

(3) 2 sinθ (4) 2 sin

Q.14 Find the HCF of 60, 148 and

382./60, 148 vkSj 382 dk HCF

Kkr dhft,A
(1) 2 (2) 6
(3) 4 (4) 24

Q.15 Raghav went to a shopping
mall to purchase clothes. He
had two coupons with him,
but only one can be used on
a single day. Using the first
coupon, a total discount of
30% could be obtained on the
total amount. Using the
second coupon, he will get
80% off on the price of the
costliest shirt if he buys at
least 3 shirts. What is the
price at which Raghav can
purchase 3 shirts at a
minimum price if the prices
of the three shirts are ̀ 1,250,
`1,540 and `1,375?/jk?ko ,d
'kWkfiax ekWy essa diM+s [kjhnus x;k FkkA
mlosQ ikl nks owQiu Fks] ysfdu ,d fnu
esa osQoy ,d gh bLrseky fd;k tk
ldrk gSA igys owQiu dk mi;ksx djosQ
oqQy jkf'k ij 30% dh oqQy NwV izkIr
dh tk ldrh gSA nwljs owQiu dk mi;ksx
djrs gq,] ;fn og de ls de   3 'kVZ
[kjhnrk gS] rks mls lcls eg¡xh 'kVZ dh
dher ij 80% dh NwV feysxhA ;fn
rhu 'kVZ dh dher ̀ 1,250, ̀ 1,540

vkSj ̀ 1,375 gSa] rks jk?ko U;wure dher
ij 3 'kVsZ fdl dher ij [kjhn ldrk
gS\
(1) `2,760 (2) `2,915.50
(3) `2,775 (4) `2,933

Q.16 If sin A = 4/5, then what is

the value of sin2 A?/;fn sin A

= 4/5, rks sin2 A dk eku D;k gS\
(1) 26/25 (2) 36/25
(3) 48/25 (4) 16/25

Q.17 A solid metallic sphere of
radius 12 cm is melted and
recast into a cone having
diameter of the base as 12 cm.
What is the height of the

cone?/12 lseh f=kT;k ds ,d Bksl èkkrq
ds xksys dks fi?kyk;k tkrk gS vkSj 12 lseh
ds vk/kj ds O;kl okys 'kadq esa iqu% <kyk
tkrk gSA 'kadq dh ÅapkbZ fdruh gS\
(1) 258 cm/lseh
(2) 192 cm/lseh
(3) 166 cm/lseh
(4) 224 cm/lseh

Q.18 In the given figure, if PA and PB
are tangents to the circle with
centre O such that APB = 54°,

then OBA = ____./nh xbZ vkÑfr
esa] ;fn PA vkSj PB dsaæ O okys o`Ùk
ij Li'kZ js•k,¡ bl çdkj gSa fd APB

= 54° rks OBA = ____.

P

A

B

O

(1) 27° (2) 40°
(3) 30° (4) 35°

Q.19 In the figure, XYZ is a secant
and ZT is a tangent to the
circle at T. If TZ = 12cm and
YZ = 8cm, then find the length

of XY./vkÑfr esa] XYZ ,d Nsnd
js•k gS vkSj ZT, T ij o`Ùk dh Li'kZ
js•k gSA ;fn TZ = 12 lseh vkSj YZ =

8 lseh gS] rks XY dh yackbZ Kkr dhft,A
X

T

Y

x cm

12 cm

8 cm

Z

(1) 8 cm/lseh (2) 9 cm/lseh
(3) 6 cm/lseh (4) 10 cm/lseh

Q.20 A dishonest dealer sells the
goods at 7% loss on cost price
but uses 18% less weight. What
is his percentage of profit?
(Correct to 2 decimal places)
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/,d csbZeku Mhyj ykxr ewY; ij 7»
gkfu ij lkeku csprk gS ysfdu 18»
de otu dk mi;ksx djrk gSA
mlds ykHk dk çfr'kr D;k gS\ (nks
n'keyo LFkkuksa rd lgh)
(1) 25.65% (2) 12.82%
(3) 28.75% (4) 13.41%

Q.21 If x + y + z = 0 and x2 + y2 + z2

= 40, then what is the value

of xy + yz + zx?/;fn x + y + z =

0 vkSj x2 + y2 + z2 = 40, gS] rks xy

+ yz + zx dk eku D;k gS\
(1) -20 (2) 5
(3) -5 (4) -10

Q.22 The expenditure on the cost
of living of a man and his
family is 60% of his salary. He
gets two increment of 30%
and 60% in his salary. If his
saving increases by 250% of
his initial saving, then the
new cost of living expenditure
is what percentage (rounded
off to the nearest integer) of

the increased salary?/,d
vkneh vkSj mlds ifjokj ds jgus dh
ykxr ij •pZ mlds osru dk 60» gSA
og vius osru esa 30» vkSj 60» dh nks
o`f¼ çkIr djrk gSA ;fn mldh cpr
mldh çkjafHkd cpr ds 250» ls c<+
tkrh gS] rks jgus dk u;k •pZ c<+s gq,
osru dk fdruk çfr'kr (fudVre iw.kkZad
rd iw.kkZafdr) gS\
(1) 32.7 Percent (2) 43.6
Percent
(3) 29.5 Percent (4) 36.6
Percent

Q.23 If the areas of two isosceles
triangles are in the ratio of x2:
y2, then the ratio of their

corresponding heights is:/;fn
nks lef}ckgq f=kHkqtksa ds {ks=kiQy x2: y2

ds vuqikr esa gSa] rks mudh laxr Å¡pkb;ksa
dk vuqikr gS

(1) x : y (2) :x y

(3) x3 : y3 (4) x2 : y2

Q.24 A sum of money doubles itself
in 7 years at simple interest.
In how much time will it

become 5 times of itself?/dksbZ
/ujkf'k lk/kj.k C;kt ij 7 o"kZ esa nksxquh
gks tkrh gSA fdrus le; esa ;g Lo;a dk
5 xquk gks tk,xk\
(1) 25 years/o"kksZa
(2) 28 years/o"kksZa

(3) 23 years/o"kksZa
(4) 21 years/o"kksZa

Q.25 If a 7-digit number 54p3987
is divisible by 11, then p is

equal to:/;fn 7 vadksa dh la[;k
54p3987, 11 ls foHkkT; gS] rks p
cjkcj gS
(1) 5 (2) 9
(3) 4 (4) 1

GENERAL AWARENESS
Q.1 The principal lignite reserves

are in Neyveli which is
situated in ____./çeq• fyXukbV
HkaMkj usosyh esa gSa tks ___ esa fLFkr gSA
(1) Karnataka/dukZVd
(2) Andhra Pradesh/vka/z çns'k
(3) Tamil Nadu/rfeyukMq
(4) Kerala/dsjy

Q.2 Babur ruled over Delhi till

_____ year./ckcj us ____o"kZ rd
fnYyh ij 'kklu fd;kA
(1) 1530 (2) 1539
(3) 1526 (4) 1545

Q.3 Which of these methods is
used for conservation of land

rescore?/buesa ls fdl fof/ dk
mi;ksx Hkw&laj{k.k ds laj{k.k ds fy,
fd;k tkrk gS\
(1) Deforestation/ouksa dh dVkbZ
(2) Poaching/voS/ f'kdkj
(3) Land reclamation/Hkwfe lqèkkj
(4) Indiscriminate use of

chemical pesticides/
jklk;fud dhVuk'kdksa dk vaèkk/qa/
ç;ksx

Q.4 In which of the following
Indian states is the “Hundred
Drums Festival” observed?/
fuEufyf•r esa ls fdl Hkkjrh; jkT; esa ̂ gaMªsM
Mªe iQsfLVoy* euk;k tkrk gS\
(1) Uttarakhand/mÙkjk•aM
(2) Meghalaya/es?kky;
(3) Himachal Pradesh/fgekpy

çns'k
(4) Punjab/iatkc

Q.5 In February 2022, the first
night navigation mobile
application for rivers was
launched in _____./iQjojh 2022
esa] ufn;ksa ds fy, igyh jkr dk usfoxs'ku
eksckby ,fIyds'ku ____ esa ykWUp fd;k
x;k FkkA
(1) West Bengal/if'pe caxky
(2) Assam/vle

(3) Uttar Pradesh/mÙkj çns'k
(4) Jharkhand/>kj•aM

Q.6 When the river approaches sea
it breaks up into a number of
distributaries, each distributary
forms its own mouth. The
collection of sediments from all

the mouths forms ______. / t c
unh leqæ ds ikl igq¡prh gS rks ;g dbZ
forfjdkvksa esa foHkkftr gks tkrh gS] çR;sd
forfjdk viuk eq¡g cukrh gSA lHkh eqgkuksa
ls ryNV dk laxzg ______ cukrk gSA
(1) Meanders/foliZ
(2) Floodplains/ck<+ ds eSnku
(3) Delta/MsYVk
(4) Levees/rVca/

Q.7 Which Fundamental Right
was deleted by The
Constitution (Forty-fourth
Amendment) Act, 1978?/

lafoèkku (pokyhloka la'kks/u) vf/fu;e]
1978 }kjk fdl ekSfyd vf/dkj dks
gVk fn;k x;k Fkk\
(1) Right to Property/laifÙk dk

vf/dkj
(2) Right to Freedom of

Movement/vkanksyu dh Lora=krk
dk vf/dkj

(3) Right to Education/f'k{kk dk
vf/dkj

(4) Right to Constitutional

Remedies/laoS/kfud mipkjksa dk
vf/dkj

Q.8 Most of the Chlorophyceae
have one or more storage
bodies called _____ located in

the chloroplasts./vf/dk a ' k
DyksjksiQkblh esa ,d ;k ,d ls vf/d
HkaMkj.k fudk; gksrs gSa ftUgsa_____dgk
tkrk gS tks DyksjksIykLV esa fLFkr gksrs gSaA
(1) Stomata/ja/z
(2)  Carotenoids/dSjksVhukW;M
(3) Pyrenoids/ik;jsukWbM~l
(4) Chlorophyll/DyksjksfiQy

Q.9 The bill which provide for the
trial of British or European
person by Indians was _____./

Hkkjrh;ksa }kjk fczfV'k ;k ;wjksih; O;fÙkQ
ds eqdnes dk çko/ku djus okyk fcy
____ FkkA
(1) Hastings Bill/gsfLVaXl fcy
(2)  Dalhousie Bill/MygkSth fcy
(3) Ilbert Bill / bYcVZ fcy
(4)  George Bill/tkWtZ fcy
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Q.10 Which of the following cities
became the capital of Bengal

in 1704?/fuEufyf•r esa ls dkSu lk
'kgj 1704 esa caxky dh jkt/kuh cuk Fkk\
(1) Howrah/gkoM+k
(2) Murshidabad/eqf'kZnkckn
(3) Kharagpur /•M+xiqj
(4)  Kolkata/dksydkrk

Q.11 Iron, iodine and zinc can be
considered as which of the

following?/vk;ju] vk;ksMhu vkSj
ftad dks fuEufyf•r esa ls fdl :i esa
ekuk tk ldrk gS\
(1) Macronutrients/eSØksU;wfVª,aV~l
(2) Micronutrients/lw{e iks"kd

rRo
(3) Steroid hormone inducer/

LVsjkW;M gkekZsu çsjd
(4) Non-essential nutrients/

xSj&vko';d iks"kd rRo
Q.12 Who among the following is

noted for playing the Flute?/

fuEufyf•r esa ls dkSu ckalqjh ctkus ds
fy, fo[;kr gS\
(1) Pandit Kumar Gandharva

/iafMr dqekj xa/oZ
(2) Pandit Hariprasad

Chaurasia /iafMr gfjçlkn
pkSjfl;k

(3) Pandit Ravishankar/iafMr
jfo'kadj

(4) Pandit Shivkumar Sharma

/iafMr f'kodqekj 'kekZ
Q.13 The GDP estimation method

measuring the aggregate
value of goods and services
produced by the firms is

called ______./iQeks± }kjk mRikfnr
oLrqvksa vkSj lsokvksa ds dqy ewY; dks
ekius okyh thMhih vuqeku i¼fr dks
____dgk tkrk gSA
(1) Expenditure method/O;;

fof/
(2) Consumption method/

miHkksx fof/
(3) Income method/vk; fof/
(4) Product method/mRikn fof/

Q.14 The Choliya dance is

performed in _____./Nksfy;k u`R;
_____esa fd;k tkrk gSA
(1) Ladakh/yík•
(2) Uttarakhand/mÙkjk•aM
(3) Meghalaya/es?kky;
(4) Tamil Nadu/rfeyukMq

Q.15 Which of the following
countries is NOT part of the
three nations to host the 2023
FIBA Basketball World Cup?/

fuEufyf•r esa ls dkSu lk ns'k 2023
FIBA ckLdsVckWy fo'o di dh estckuh
djus okys rhu ns'kksa dk fgLlk ugha gS\
(1) Japan/tkiku
(2) Indonesia/baMksusf'k;k
(3) Argentina/vtZsaVhuk
(4) Philippines/fiQyhihal

Q.16 The ‘Sorrow of Bengal’ is _____

./^caxky dk 'kksd* _____ gSA
(1) The Narmada/ueZnk
(2) The Damodar/nkeksnj
(3) The Koshi/dks'kh
(4)  The Tapi/rkih

Q.17 The first bullet train project
in India aims to run a bullet
train at 320 kmph along a
highspeed rail (HSR) track

between _____./Hkkjr esa igyh cqysV
Vªsu ifj;kstuk dk y{; _____ ds chp
gkbZLihM jsy (HSR) VªSd ds lkFk 320
fdeh çfr ?kaVs dh jÝrkj ls cqysV Vªsu
pykuk gSA
(1) Jaipur and Mumbai/t;iqj

vkSj eqacbZ
(2) Ahmedabad and Mumbai/

vgenkckn vkSj eqacbZ
(3) Delhi and Hyderabad/

fnYyh vkSj gSnjkckn
(4) Kolkata and Chennai/

dksydkrk vkSj psUubZ
Q.18 What is the chemical formula

of vinegar?/fljds dk jklk;fud lw=k
D;k gS\
(1) HCOOH
(2) CH

3
COOH

(3) (COOH)
2

(4) C
6
H

5
COOH

Q.19 Which measuring instrument
consists of a metal triangular
frame supported on three legs,
used to measure the radius of
curvature of an object such as
lenses and curved mirrors
which are spherical in shape?/

fdl ekius ds midj.k esa rhu iSjksa ij
lefFkZr ,d /krq f=kdks.kh; Úse gksrk gS]
ftldk mi;ksx ysal vkSj ?kqekonkj niZ.k
tSls fdlh oLrq dh oØrk dh f=kT;k dks
ekius ds fy, fd;k tkrk gS tks vkdkj esa
xksykdkj gksrs gSa\

(1) Viscometer/foLdksehVj
(2) Spherometer/LiQsjksehVj
(3) Verniercaliper/ofuZ;jdSfyij
(4) Screw gauge/LØw xst

Q.20 In cricket, if the umpire raises
an index finger above the head

it means______./fØdsV esa] vxj
vaik;j viuh rtZuh dks flj ds Åij
mBkrk gS rks bldk eryc ____ gSA
(1) dead ball/MsM ckWy
(2) wide ball/pkSM+h xsan
(3) no ball/uks ckWy
(4) batsman is out/cYysckt
vkmV gks x;k

Q.21 The duration of the Mesolithic
period is from about ___ years

ago to ___ years ago./eslksfyfFkd
dky dh vof/ yxHkx_____o"kZ iwoZ
ls_____o"kZ iwoZ rd gSA
(1) 14000, 10000
(2)  17000, 12000
(3) 12000, 10000
(4)  10000, 7000

Q.22 The 73rd amendment deals
with which of the following?/

73oka la'kks/u fuEufyf•r esa ls fdlls
lacaf/r gS\
(1) GST/th,lVh
(2) Urban local government

bodies/'kgjh LFkkuh; ljdkjh
fudk;

(3) Panchayat Raj System/

iapk;r jkt O;oLFkk
(4) Anti-defection/ny&cny

fojks/h
Q.23  In the Industrial Policy

Resolution of 1948, which of
the following was NOT the
monopoly of the Central

Government?/1948 ds vkS|ksfxd
uhfr çLrko esa fuEufyf•r esa ls fdl
ij dsUæ ljdkj dk ,dkf/dkj ugha Fkk\
(1) Iron and Steel/yksgk vkSj bLikr
(2) Atomic energy/ijek.kq ÅtkZ
(3) Railway/jsyos
(4) Arms and ammunition/

gfFk;kj vkSj xksyk ck:n
Q.24 In July 2022, the government

prohibited the import of which
of the following in line with the
Assisted Reproductive
Technology (Regulation) Act,
2021 and The Surrogacy

(Regulation) Act, 2021?/tqykbZ
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2022 esa] ljdkj us lgk;d çtuu
çkS|ksfxdh (fofu;eu) vf/fu;e] 2021
vkSj ljksxslh (fofu;eu) vf/fu;e]
2021 ds vuqlkj fuEufyf•r esa ls fdlds
vk;kr ij jksd yxk nh\
(1) Human embryo/ekuo Hkzw.k
(2) Women’s egg/efgyk dk vaMk
(3) Stem cell/LVse lsy
(4) Kidney/xqnkZ

Q.25 Who among the following
Kathak dancers were
conferred with the Padma

Shri Award, 2022?/fuEufyf•r
dFkd urZfd;ksa esa ls fdls iÁ Jh
iqjLdkj] 2022 ls lEekfur fd;k x;k\
(1) Manjari Chaturvedi and

Rajendra Chaturvedi/

eatjh prqoZsnh vkSj jktsaæ prqoZsnh
(2) Kamalini Asthana and

Nalini Asthana/defyuh
vLFkkuk vkSj ufyuh vLFkkuk

(3) Sujata Mohapatra and

Ratikant Mohapatra/lqtkrk
egkik=k vkSj jrhdkar egkik=k

(4) Yamini Krishnamurthy and
Smrithi Krishnamurthy/

;kfeuh Ñ".kewfrZ vkSj Lèfr Ñ".kewfrZ

1. Select the correct
combination of mathematical
signs to sequentially replace
the * signs and balance the

given equation./fn, x, lehdj.k
dks larqfyr djus ds fy, * fpUgksa dks
Øfed :i ls cnyus ds fy, xf.krh;
fpÉksa ds lgh la;kstu dk p;u djsaA
16 * 3 * 2 * 11 * 9 = 22
1. × ÷ + - 2. × ÷ – +
3. ÷ × + + 4. ÷ + × ÷

2. By Interchanging the given
two numbers which of the
following equation will be not

correct?/nh xbZ nks la[;kvksa dks vkil
esa cnyus ij fuEufyf•r esa ls dkSu lk
lehdj.k lgh ugha gksxk\
7 and 9
1. 8 × 3 ÷ 6 + 9 - 7 = 2
2. 7 + 6 - 9 × 4 ÷ 2 = 2
3. 9 + 4 × 3 - 7 ÷ 1 = 10
4. 9 × 3 + 4 ÷ 2 - 7 = 14

3. Three of the following four
letter-clusters are alike in a
certain way and one is
different. Pick the odd one

out./fuEufyf•r pkj v{kj&lewgksa esa

ls rhu ,d fuf'pr rjhds ls leku gSa
vkSj ,d fHkUu gSA fo"ke dks pqfu,A
1. EUT 2. RHG
3. TRQ 4. TFE

4. A series is given with one term
missing. Select the correct
alternative from the given ones
that will complete the series./

,d vuqØe fn;k x;k gS ftlesa ,d in
yqIr gSA fn, x, fodYiksa esa ls og lgh
fodYi pqfu, tks J̀a•yk dks iwjk djsA
MHDM, MYLC, MPTS, MGBI,
?
1. MJXY 2. MNRS
3. MXJY 4. MXYJ

5. Select the option figure which
is embedded in the given
figure (rotation is not

allowed)./ml fodYi vkÑfr dk
p;u djsa tks nh xbZ vkÑfr esa lfUufgr
gS (jksVs'ku dh vuqefr ugha gS)A

1. 2.

3. 4.

6. Select the option that is
related to the third word in
the same way as the second
word is related to the first
word. (The words must be
considered as meaningful
English words and must not
be related to each other based
on the number of letters /
number of consonants /

vowels in the word.)/ml fodYi
dk p;u djsa tks rhljs 'kCn ls mlh
çdkj lacaf/r gS tSls nwljk 'kCn igys
'kCn ls lacaf/r gSA ('kCnksa dks lkFkZd
vaxzsth 'kCn ekuk tkuk pkfg, vkSj 'kCn
esa v{kjksa dh la[;k @ O;atuksa @ Lojksa dh
la[;k ds vk/kj ij ,d nwljs ls lacaf/
r ugha gksuk pkfg,A)
Trembling : Fear :: Sigh : ?
1. Pain 2. Relief
3. Hope 4. Anger

7. By Interchanging the given
two numbers which of the
following equation will be not

correct?/nh xbZ nks la[;kvksa dks vkil

esa cnyus ij fuEufyf•r esa ls dkSu lk
lehdj.k lgh ugha gksxk\
4 and 2
1. 4 × 3 - 8 ÷ 2 + 7 = 11
2. 8 ÷ 4 × 2 - 6 + 9 = 18
3. 4 - 8 × 3 + 2 ÷ 1 = -18
4. 6 × 4 - 8 ÷ 2 + 7 = 17

8. Read the given statements
and conclusions carefully.
Assuming that the
information given in the
statements is true, even if it
appears to be at variance with
commonly known facts,
decide which of the given
conclusions logically follow(s)

from the statements./fn, x,
dFkuksa vkSj fu"d"kks± dks è;kuiwoZd i<+saA
;g ekurs gq, fd dFkuksa esa nh xbZ
tkudkjh lR; gS] Hkys gh ;g lkekU;
:i ls Kkr rF;ksa ls fHkUu çrhr gksrh
gks] r; djsa fd fn, x, fu"d"kks± esa ls
dkSu lk dFkuksa dk rkfdZd :i ls
vuqlj.k djrk gSA
Statements:/dFku
I. Some benches are tables./

dqN csap Vscy gSaA
II. Some tables are chairs./

dqN est dqflZ;k¡ gSaA
III. Some chairs are pencils./

dqN dqflZ;k¡ isafly gSaA
Conclusions:/fu"d"kZ
I. Some benches are chairs./

dqN csap dqflZ;k¡ gSaA
II. Some tables are pencils./

dqN est isafly gSaA
III. Some pencils are chairs./

dqN isafly dqflZ;k¡ gSaA
IV. Some pencils are tables./

dqN isafly Vscy gSaA
1. Only conclusions II and IV

follow./dsoy fu"d"kZ II vkSj IV
vuqlj.k djrs gSaA

2. Only conclusion III follows.

/dsoy fu"d"kZ III vuqlj.k djrk gSA
3. Only conclusions I and II

follows./dsoy fu"d"kZ I vkSj II
vuqlj.k djrs gSaA

4. None of the conclusions

follow./dksbZ Hkh fu"d"kZ vuqlj.k
ugha djrk gSA

9. Three different positions of
the same dice are shown.
Find the number on the face
opposite the face showing '6'./
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,d gh ikls dh rhu vyx&vyx
fLFkfr;ka fn•kbZ xbZ gSaA '6' n'kkZus okys
iQyd ds foijhr iQyd ij la[;k Kkr
dhft,A

3

4 2
5

3 2
6

5 2

fig 1 fig 2 fig 3

1. 5 2. 3
3. 2 4. 1

10. Select the option that is related
to the third word in the same
way as the second word is
related to the first word. (The
words must be considered as
meaningful English words and
must not be related to each
other based on the number of
letters/number of consonants/

vowels in the word)/ml fodYi
dk p;u djsa tks rhljs 'kCn ls mlh
çdkj lacaf/r gS tSls nwljk 'kCn igys
'kCn ls lacaf/r gSA ('kCnksa dks lkFkZd
vaxzsth 'kCn ekuk tkuk pkfg, vkSj 'kCn
esa v{kjksa dh la[;k@O;atuksa@Lojksa dh la[;k
ds vk/kj ij ,d nwljs ls lacaf/r ugha
gksuk pkfg,)
Telescope : Distant Objects ::
Microscope : ?
1. Big Objects
2. Tiny Objects
3. Very Large Objects
4. Heavy Objects

11. Select the correct mirror
image of the given figure when
the mirror is placed at AB as

shown./nh xbZ vkÑfr dh lgh niZ.k
Nfo dk p;u djsa tc niZ.k dks AB

ij j•k x;k gS tSlk fd fn•k;k x;k gSA

1. 2.

3. 4.

12. In a certain code language,
'HAIRCAP' is written as
'IAHRPAC' and 'LEADMAN' is
written as 'AELDNAM'. How
will 'FACTFUL' be written in

that language?/,d fuf'pr dksM
H k k " k k  e s a ]  'HAIRCAP' d k s
'IAHRPAC' vkSj 'LEADMAN' dks
'AELDNAM' fy•k tkrk gSA ml Hkk"kk
esa 'FACTFUL' dSls fy•k tk,xk\
1. CAFTLUF 2. CAFTLFU
3. CATFLUF 4. CAFTULF

13. Select the option that
represents the correct order
of the given words as they
would appear in an English

dictionary./ml fodYi dk p;u
djsa tks fn, x, 'kCnksa ds lgh Øe dk
çfrfuf/Ro djrk gS D;ksafd os vaxzsth
'kCndks'k esa fn•kbZ nsaxsA
1. Amphibian
2. Ambiguous
3. Ambience
4. Amplify
5. Amorphous
6. Ambivalent
7. Ameliorate
1. 3, 2, 6, 7, 5, 1, 4
2. 3, 2, 6, 7, 5, 4, 1
3. 3, 2, 4, 6, 7, 5, 1
4. 3, 2, 6, 5, 7, 1, 4

14. 'A @ B' means 'A is the husband
of B'.
'A & B' means 'A is the father
of B'.
'A # B' means 'B is the son of
A'.
If S @ T # P @ Q # R & V, then
how is T related to Q?

'A @ B' dk vFkZ gS ', ch dk ifr gS'A
'A & B' dk vFkZ gS 'A] B dk firk gS'A
'A # B' dk vFkZ gS 'B] A dk iq=k gS'A
;fn S @ T # P @ Q # R & V, rks
T] Q ls fdl çdkj lacaf/r gS\
1. Husband/ifr
2.  Mother/ekrk
3. Mother-in-law/lkl
4. Sister/cgu

15. Which number will replace
the question mark (?) in the

following series?/fuEufyf•r
J̀a•yk esa dkSu lh la[;k ç'u fpÉ
(\) dks çfrLFkkfir djsxh\
5, 12, 26, ?, 110, 222
1. 52 2. 56
3. 54 4. 50

16. In the following question
below are given some
statements followed by some
conclusions based on those
statements. Taking the given
statements to be true even if
they seem to be at variance
from commonly known facts.
Read all the conclusions and
then decide which of the given
conclusion logically follows

the given statements./uhps fn,
x, ç'u esa dqN dFku fn, x, gSa vkSj
mu dFkuksa ds vk/kj ij dqN fu"d"kZ
fn, x, gSaA fn, x, dFkuksa dks lR;
ekuuk Hkys gh os loZKkr rF;ksa ls fHkUu
çrhr gksrs gksaA lHkh fu"d"kks± dks i<+sa vkSj
fiQj r; djsa fd fn, x, fu"d"kks± esa ls
dkSu lk fu"d"kZ rkfdZd :i ls fn, x,
dFkuksa dk vuqlj.k djrk gSA
Statements:/dFku
I. No tyre are white./dksbZ Vk;j

liQsn ugha gSA
II.  All grey are white./lHkh xzs

liQsn gSa-
Conclusions:/fu"d"kZ
I. No white is tyre./dksbZ liQsn Vk;j

ugha gS-A
II. No tyre is grey./dksbZ Vk;j xzs

ugha gSA
III. Some white are not grey./

dqN liQsn xzs ugha gSaA
1. Only conclusion I follows./

dsoy fu"d"kZ I vuqlj.k djrk gSA
2. Both conclusions I and III

follows/fu"d"kZ I vkSj III nksuksa
vuqlj.k djrs gSaA

3. Both conclusions I and II

follows./fu"d"kZ I vkSj II nksuksa
vuqlj.k djrs gSaA

4. Neither conclusion

follows./dksbZ Hkh fu"d"kZ vuqlj.k
ugha djrk gSA

17. Which letter cluster will
replace the question mark (?)
to complete the given series?/

nh xbZ J̀a•yk dks iwjk djus ds fy,
dkSu&lk v{kj lewg ç'uokpd fpÉ
(\) ds LFkku ij vk,xk\
ABCD, EBCD, ?, OBCD,
UBCD
1. JBCD 2. LBCD
3. IBCD 4. KBCD
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18. Select the figure from among
the given options that can
replace the question mark (?)

in the following series./fn, x,
fodYiksa esa ls ml vkÑfr dk p;u djsa
tks fuEufyf•r J̀a•yk esa ç'u fpÉ
(\) dks çfrLFkkfir dj ldrh gSA

1. 2.

3. 4.

19. In a certain code language,
'ICE' is coded as '20' and
'HOT' is coded as '46'. How
will 'POT' be coded in that

language?/,d fuf'pr dksM Hkk"kk
esa] 'ICE' dks '20' vkSj 'HOT' dks
'46' ds :i esa dksfMr fd;k tkrk gSA
mlh Hkk"kk esa 'POT' dks fdl çdkj
dksfMr fd;k tk,xk\
1. 54 2. 58
3. 56 4. 55

20. Select the option that is
related to the third number in
the same way as the second
number is related to the first
number and the sixth number
is related to the fifth number./

ml fodYi dk p;u djsa tks rhljh
la[;k ls mlh çdkj lacaf/r gS tSls nwljh
la[;k igyh la[;k ls lacaf/r gS vkSj
NBh la[;k ikapoha la[;k ls lacafèkr gSA
16 : 20 :: 256 : ? :: 49 : 56
1. 266 2. 264
3. 278 4. 272

21. Select the set in which the
numbers are related in the
same way as are the numbers

of the following sets./ml
leqPp; dk p;u djsa ftlesa la[;k,¡
mlh çdkj lacaf/r gSa tSls fuEufyf•r
leqPp;ksa dh la[;k,¡ gSaA
(NOTE : Operations should be
performed on the whole
numbers, without breaking
down the numbers into its
constituent digits. E.g. 13 -
Operations on 13 such as
adding / subtracting /
multiplying etc. to 13 can be

performed. Breaking down 13
into 1 and 3 and then
performing mathematical
operations on 1 and 3 is not

allowed)/(uksV% la[;kvksa dks muds
?kVd vadksa esa foHkkftr fd, fcuk] iw.kZ
la[;kvksa ij lapkyu fd;k tkuk pkfg,A
mnkgj.k ds fy, 13 & 13 ij lapkyu
tSls 13 dks tksM+uk @ ?kVkuk @ xq.kk
djuk vkfn fd;k tk ldrk gSA 13 dks
1 vkSj 3 esa rksM+uk vkSj fiQj 1 vkSj 3
ij xf.krh; lafØ;k,¡ djus dh vuqefr
ugha gS)
(2, 4, 20)
(4, 5, 41)
1. (9, 2, 86) 2. (4, 3, 25)
3. (5, 3, 32) 4. (7, 3, 59)

22. Select the set in which the
numbers are related in the
same way as are the numbers
of the following sets. (NOTE :
Operations should be
performed on the whole
numbers, without breaking
down the numbers into its
constituent digits. E.g. 13 -
Operations on 13 such as
adding / subtracting /
multiplying etc. to 13 can be
performed. Breaking down 13
into 1and 3 and then
performing mathematical
operations on 1 and 3 is NOT

allowed)/ml lsV dk p;u djsa ftlesa
la[;k,a mlh rjg lacaf/r gSa tSls
fuEufyf•r lsV dh la[;k,a gSaA (uksV%
la[;kvksa dks muds ?kVd vadksa esa foHkkftr
fd, fcuk] iw.kZ la[;kvksa ij lafØ;k,¡
fu"ikfnr dh tkuh pkfg,A mnkgj.k 13 &
13 ij lafØ;k,¡ tSls 13 esa tksM+uk@?kVkuk@xq.kk
djuk vkfn fu"ikfnr dh tk ldrh gSaA 13
dks 1 vkSj 3 esa foHkkftr djuk vkSj fiQj
1 vkSj 3 ij xf.krh; lafØ;k,¡ djus dh
vuqefr ugha gS)
(76, 4, 19)
(98, 2, 49)
1. (84, 12, 4) 2. (72, 4, 18)
3. (99, 3, 66) 4. (88, 2, 22)

23. If X × Y means that X is the
mother of Y, X - Y means that
X is the father of Y, X ÷ Y
means that X is the sister of
Y, then which of the following
expression shows that P is the
paternal grandfather of R?/

;fn X × Y dk vFkZ gS fd X] Y dh
ek¡ gS] X – Y dk vFkZ gS fd X] Y dk
firk gS] X ÷ Y dk vFkZ gS fd X] Y
dh cgu gS] rks fuEufyf•r esa ls dkSu
lk O;atd n'kkZrk gS fd P] R ds nknk\
1. Q - P × R 2. P - Q ÷ R
3. P - Q × R 4. P × Q - R

24. Select a suitable figure from
the answer figure which
would replace the question

mark (?)./mÙkj vkÑfr esa ls ml
mi;qÙkQ vkÑfr dk p;u dhft, tks
ç'ufpUg (\) ds LFkku ij vk tk,A

1. 2.

3. 4.

25. In the following question, four
number pairs are given. In
each pair the number on left
side of (-) is related to the
number of the right side of (-)
with some Logic/Rule/
Relation. Three pairs are
similar on basis of same
Logic/Rule/Relation. Select
the odd one out from the given

alternatives./fuEufyf•r ç'u esa
pkj la[;k ;qXe fn, x, gSaA çR;sd tksM+h
esa (&) ds ckbZa vksj dh la[;k (&) ds
nkbZa vksj dh la[;k ls dqN rdZ@fu;e@laca/
ds lkFk lacaf/r gSA leku rdZ@fu;e@laca/
ds vk/kj ij rhu tksM+s leku gSaA fn,
x, fodYiksa esa ls fo"ke dks pqfu,A
(NOTE: Operations should be
performed on the whole
numbers, without breaking
down the numbers into its
constituent digits. E.g.13 -
Operations on 13 such as
adding /subtracting /
multiplying etc. to 13 can be
performed. Breaking down 13
into 1 and 3 and then
performing mathematical
operations on 1 and 3 is not

allowed)(uksV% la[;kvksa dks muds
?kVd vadksa esa foHkkftr fd, fcuk] iw.kZ
la[;kvksa ij lafØ;k,¡ dh tkuh pkfg,A
mnkgj.k 13 & 13 ij lafØ;k,¡ tSls 13
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esa tksM+uk@?kVkuk@xq.kk djuk vkfn fu"ikfnr
dh tk ldrh gSaA 13 dks 1 vkSj 3 esa
foHkkftr djuk vkSj fiQj 1 vkSj 3 ij
xf.krh; lafØ;k,¡ djus dh vuqefr ugha
gS)
1. 15 - 56 2. 13 - 48
3. 11 - 39 4. 17 - 64

Q.1 Select the most appropriate
ANTONYM of the underlined
word.
Social economics is a meta-
discipline in which economics
is entrenched in social,
political and cultural
behaviours.
(1) Averted (2) Startling
(3) Transient (4) Entrusted

Q.2 Select the most appropriate
synonym of the bracketed
word to fill in the blank.
Your words seemed more like
a demand rather than a
_________ (request).
(1) plea
(2) compromise
(3) contract
(4) order

Q.3 Select the option that can
be used as a one-word
substitute for the
underlined group of words
in the following sentence.
Sita seems not to be affected
by the pleasures and pains of
life.
(1) strict (2) active
(3) stoic (4) passive

Q.4 Select the most appropriate
meaning of the given idiom.
Red tape
(1) Catch someone at the

moment they are doing
something wrong

(2) Official rules and
bureaucracy that make it
difficult to do something

(3) Have a negative amount in
your bank balance

(4) Something unimportant
that takes attention away
from the main subject

Q.5 Select the most appropriate
option to fill in the blank.
Either he is mad, or he
feigns ____.
(1) happiness (2) madness
(3) calmness (4) sadness

Q.6 Select the option that can
be used as a one-word
substitute for the given
group of words.
Having a feeling of guilt
(1) Refulgence
(2) Restitution
(3) Remorse
(4) Repugnance

Q.7 Choose the incorrectly spelt
word.
(1) Benchmark
(2) Knight
(3) Aggravate
(4) Subsistance

Q.8 Select the most appropriate
option to fill in the blank.
I felt ____ elated at the news.
(1) commonly
(2) strangely
(3) customarily
(4) typically

Q.9 Select the option that can
be used as a one-word
substitute for the given
group of words.
A person who criticises
traditional beliefs and
customs
(1) Heretic (2) Absconder
(3) Apostle (4) Iconoclast

Q.10 Select the correct passive
form of the given sentence.
He drank a lot of coffee
before the marathon.
(1) A lot of coffee was drunk

by him before the
marathon.

(2) A lot of coffee is drunk by
him before the marathon.

(3) A lot of coffee was drunken
by him before the
marathon.

(4) A lot of coffee had been
drunk by him before the
marathon.

Q.11 Select the option that
expresses the given
sentence in passive voice.
They flew a kite in the
evening.
(1) A kite was being flown by

them in the evening.
(2) In the evening, a kite have

been flown by them.
(3) A kite has been flown by

them since evening.
(4) A kite was flown by them

in the evening.

Q.12 Select the most appropriate
synonym of the underlined
word in the given sentence.
The young fellow was
innocent and without guile.
(1) Morality (2) Pride
(3) Greed (4) Deceit

Q.13 Select the INCORRECTLY
spelt word.
(1) Musk (2) Decide
(3) Extarnal (4) Angel

Q.14 Select the most appropriate
option that can substitute
the underlined segment in
the given sentence.
The students were warned on
coming late to school.
(1) warned against
(2) warned at
(3) warned in
(4) warned with

Q.15 Select the most appropriate
meaning of the underlined
idiom that can be
substituted in the following
sentence.
Let us know what you think
in black and white.
(1) in darkness and light
(2) verbally
(3) in writing
(4) in black and white paint

Q.16 Rearrange the parts of the
sentence in correct order.
The absence of
P. data on the migrant

workers was
Q. formulating effective

policy decisions and
R. preventing the

governments from
S. strategies for the welfare

of migrant workers
(1) QPRS
(2) RPQS
(3) PSRQ
(4) PRQS

Q.17 Select the correct direct
form of the given sentence.
Meena said that her parents
were getting divorced.
(1) Meena said, “My parents

get divorced.”
(2) Meena said, “My parents

are getting divorced.”
(3) Meena said, “My parents

will be getting divorced.”
(4) Meena said, “My parents

were getting divorced.”
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Q.18 Select the most appropriate
ANTONYM of the underlined
word.
The singer complained to the
police that she was
purportedly attacked back
stage immediately after the
concert.
(1) Maliciously
(2) Impossibly
(3) Dramatically
(4) Severely

Q.19 The following sentence has
been split into four
segments. Identify the
segment that contains a
grammatical error.
The students usually asks /
for a bonus time of / thirty
minutes for / completing their
projects.
(1) The students usually asks
(2) completing their projects
(3) for a bonus time of
(4) thirty minutes for

Q.20 The following sentence has
been split into four
segments. Identify the
segment that contains a
grammatical error.

One of the major challenges
/ he faced during his /
undergraduate days were /
the shortage of money.
(1) he faced during his
(2) One of the major

challenges
(3) the shortage of money
(4) undergraduate days were

Comprehension: In the following
passage, some words have been
deleted. Read the passage carefully
and select the most appropriate
option to fill in each blank.
Being constant (1) _______ repeating
a task or action, or performing an
activity without a stop or interval.
Consistency can never be attained
in a sporadic or (2) _______ manner.
When you perform anything
regularly or constantly, you will not
only build expertise in that area,
but you will also gain a better (3)
________ of it. Because of the greater
amount of effort put in over a longer
period of time, this enhanced
comprehension is (4) ______. As a
result, consistency is the (5)
_________ that allows anyone to
consistently put in the effort.

Q.21 Select the most appropriate
option to fill in blank
number 1.
(1) envelops (2) initiates
(3) figure (4) entails

Q.22 Select the most appropriate
option to fill in blank
number 2.
(1) casual
(2) intermittent
(3) discipline
(4) focus

Q.23 Select the most appropriate
option to fill in blank
number 3.
(1) decision
(2) comprehension
(3) estrangement
(4) ignorance

Q.24 Select the most appropriate
option to fill in blank
number 4.
(1) destructible
(2) feasible
(3) credible
(4) fluctuating

Q.25 Select the most appropriate
option to fill in blank
number 5.
(1) resistance
(2) apparatus
(3) instrument
(4) utensil


